Tema: Ilpou3BoaHas CJI0KHOH (PYHKIIUU

Cpok cnaum — 3 nexadps

1. HaiiTy npou3BoAHbIE CAeAYIOIMNX PyHKIM I

1) flx) = sin3x;

4) fix) = sin*3x;

7) fix) = cos(2x — 1);
10) fix) = cos(2x + 7);

11) f(x) =3cos[%x—1}+ 3x

12) fix) = x* + sin(—2x — 1);

14) fix) = sin*x;

16) fix) = Cosx;

18) fix) = cos’(2x — 1);

20) f(x)= [f’ + % njsin3(x2) :
22) fix) = tg(x’ + x%);

2. WsBectHo, uto [ (x)=

a) y(x)=h(f(2(x)))
6) w(x)=g(/(h(x)))
B) K(x) f(h(g(x)))

X

1.9. 1) fix) = sinx;
4) flx) = ctgx;
6) fix) = cos3;
8) flx) = (x — tgx;

2) fix) = cos3x;
5) flx) = cos’3x;
8) flx) = ctg3x;
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3) fix) = sin3x + cos3x;

6) flx) = tg3x;
9) fix) = sin(x + 3);

)
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13) f(x)——2x+cos(%x2 —1];

15) flx) = cos’x;
17) fix) = x’cos(x’ + x* — 2x);
19) fix) = x"* + sin’(2x — 1);

21) fix) = cos(1 + 2x°);

23) f{x) = sin(1 — 4x).

, g(x)=sinx, a(x)= Jx . Haiftu iponssozsble QyHKIHiA:

2) fix) = cosx; 3) fix) = tgx;
5) fix) = (5x + 2)sin2;

7) fix) = (2x* — 3x + 1) cosx;

9) fix) = (x — 1)’sinx.
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